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 Arithmetic for SSC Special Practice Set-I 

1. 5 per sons are cho sen at ran dom from a group of
4 men, 3 women and 5 chil dren. The prob a bil ity
that ex actly 3 of them are chil dren is 

4 Deoceer, 3 Deewjles leLee 5 yeÛÛeeW ceW Skeâ mecetn ceW 5 JÙeefòeâÙeeW keâes
ÙeeÂÛÚ Ûegvee peelee nw~ GveceW mes JeemleefJekeâ 3 yeÛÛes keâer nesves keâe
mecYeeJevee nQ~ 
(a) 

36

48
(b) 

35

132

(c) 
34

139
(d) 

35

221

(e) 
37

135

2. There are two mix tures in which milk and
wa ter are in the ra tio of 2 : 3 and 3 : 7
re spec tively. In what ra tio should the two
mix tures be mixed to form a new mix ture in
which the ra tio of milk to wa ter is 4 : 7?

oes efceßeCe efpemeceW otOe leLee heeveer keâe Devegheele ›eâceMeŠ 2 3:  leLee 
3 7:  nQ~4 7:  keâe veÙee efceßeCe yeveeves kesâ efueS Gme efceßeCe ceW oesveeW
efceßeCeeW keâes efkeâme Devegheele ceW efceueevee ÛeeefnS~
(a) 7 : 4 (b) 7 : 3 (c) 7 : 2 (d) 3 : 8

(e) None of these

3. A money lender finds that due to a fall in the

rate of in ter est from 13% to 12
1

2
% his yearly

in come has re duced by Rs. 104. What is his
cap i tal?

13% leLee 12 5. % keâer Jeeef<e&keâ yÙeepe oj keâceer keâjves hej Skeâ
keâpe&oelee keâer DeeÙe Yeer ™. 104 keâce nes peeleernw~ JÙeefòeâ keâer hetbpeer
keäÙee nw~
(a) Rs. 10400     (b) Rs. 20800

(c) Rs. 10800 (d) Rs. 20400

(e) None of these

4. The traf fic lights at three dif fer ent road
cross ings change af ter ev ery 48 sec onds. 72
sec onds and 108 sec onds re spec tively. If they all 
change si mul ta neously at 8 : 20 hours then at
what time will they again change
si mul ta neously?

ÙeeleeÙeele keâer ueeFš leerve Deueie ÛeewjeneW hej 48 meskeâC[, 72
meskeâC[, leLee 108 meskeâC[ ceW yeoueleer nw Ùeefo Ùes meYeer 8 20:  IeCšs 
hej Skeâ meeLe yeoues lees Deieueer yeej hegveŠ Skeâ meeLe Jes keâye
yeouesieer~

    (a) 8 : 27min 12 sec (b) 8 : 28 min 12 sec

(c) 8 : 30 min 12 sec (d) 8 : 29 min 12sec

(e) None of these

5. An aero plane started 30 min utes later than the
sched uled time from a place-1800 km away from 

its des ti na tion. To reach the des ti na tion at the
sched uled time the pi lot in creased the speed by
300 kmph. What was the speed of the aero plane
in kilo metre per hour dur ing the en tire
jour ney?

Skeâ nJeeF& penepe Deheves efveÙele mes 30 efceveš yeeo G[keâj Deheveer
efveÙele otjer mes 1800 km henues hengBÛe peelee nw~ efveÙele otjer hej mener
meceÙe hej hengÛeves kesâ efueS efJeceeve Jeenkeâ Deheveer Ûeeue keâes 
300 km h/  ye{e oslee nw~ hetjer Ùee$ee kesâ oewjeve Gme nJeeF& penepe
keâer Ûeeue efkeâceer/IeCše ceW keäÙee nw~
(a) 1300 km/h (b) 1200 km/h

(c) 1250 km/h (d) 1320 km/h       

(e) 1420 km/h

6. There is an equi lat eral tri an gle of which each
side is 2m. With all three cor ners as cen tres,
cir cles of ra dius in each are de scribed.
Cal cu late the area com mon to all the cir cles and 
tri an gles.

meceyeeng ∆ keâer ØelÙeskeâ Yegpee keâer uecyeeF& 2 m nw~ leerveeW keâesveeW
(ef$eYegpe) hej Je=òe KeerÛes ieÙes lees Je=òe kesâ GYeÙeefve‰ Yeeie leLee ef$eYegpe
keâe #es$eheâue nQ~
(a) 1.57 m2 (b) 15.7 m2

(c) 0.157 m2 (d) 1.67 m2

(e) None of these

7. What sum of money at com pound in ter est will
amount to Rs. 2249.52 in 3 years, if the rate of
in ter est is 3% for the first year, 4% for the
sec ond year and 5% for the third year?

™. 2249.52 hej 3 Je<e& keâe Ûe0 yÙeepe hej efceßeOeve keäÙee nw~ Ùeefo
yÙeepe keâer ØeLece Je<e& keâer oj 3% , efÉleerÙe Je<e& keâer oj 4% leLee
le=leerÙe Je<e& keâer oj 5% nes~
(a) Rs. 4000 (b) Rs. 5000

(c) Rs. 3080 (d) Rs. 2000

(e) Rs. 2530

8. Three part ners al to gether in vested Rs. 114000
in a busi ness. At the end of the year, the first
part ner got Rs. 337.50, the sec ond part ner got
Rs. 1125 and the third part ner got Rs. 675 as
profit. What is the ra tio of their in vest ments?

Skeâ JÙeeheej 1 ceW leerve meePesoejeW ves Skeâ meeLe ™. 114000 keâe
efveJesMe efkeâÙee~ Je<e& kesâ Deble ceW ØeLece meePesoej keâes ™. 337.50,
efÉleerÙe meePesoej keâes ™. 1125 leLee leermejs meePesoej keâes ™. 675
keâe ueeYeebme ngDee~ Gvekesâ efveJesMe keâe Devegheele nQ~
(a) 3 : 10 : 6 (b) 10 : 3 : 6

(c) 6 : 10 : 3 (d) 6 : 3 : 10

(e) None of these
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9. A box con tains 4 white balls, 3 black balls and 9
red balls. In how many ways can 4 balls be
drawn from the box, if at least one white ball is
to be in cluded in a draw? 

Skeâ yekeäMes ceW 4 mehesâo, 3 keâeueer, leLee 9 ueeue iesoW nw~ 4 iesoeW keâes
Gme yekeäMes efkeâleves lejerkesâ mes efvekeâeuee pee mekeâlee nw~ Ùeefo keâce mes keâce 
Skeâ mehesâo ieWo GveceW Meeefceue nes?
(a) 1325 (b) 1421

(c) 325 (d) 428

(e) 912

10. The area of a rect an gle is equal to the area of the 
cir cle whose ra dius is 21 cm. If the length and
the breadth of the rect an gle are in the ra tio of
14:11, what is its per im e ter?

Skeâ Je=òe efpemekeâer ef$epÙee 21 cm nw Gmekeâe #es$eheâue DeeÙele kesâ
#es$eheâue kesâ yejeyej nw Ùeefo DeeÙele keâer uecyeeF& leLee Ûeew[eF& ceWs 
14 11:  keâe Devegheele nw, lees Gmekeâe heefjceehe keäÙee nw~ 
(a) 142 cm (b) 140 cm

(c) 132 cm (d) 136 cm

(e) 150 cm

Directions (Q. 11-15): Study the following information carefully and
answer the questions given below:

Pie-chart-I shows the percentage distribution of students
who appeared in an examination from six different
schools and pie-chart-II shows the percentage
distribution of students who passed from these schools.

Pie-chart-I

To tal stu dents ap peared = 9500 

Pie-chart-II

To tal stu dents passed = 2400

11. What is the dif fer ence be tween the num ber of
stu dents ap peared from School A and those
ap peared from School D?

mketâue A leLee mketâue B kesâ efJeÅeeefLe&ÙeeW kesâ yeerÛe ceW keäÙee Devlej nw~
(a) 320 (b) 340 (c) 360 (d) 380

(e) 400

12. How many stu dents passed from School B and
School F to gether?

mketâue B leLee mketâue F ceW efkeâleves efJeÅeeLeea heeme ngSs~
(a) 760 (b) 768 (c) 774 (d) 784

(e) 788

13. How many stu dents failed from School C?

mketâue C ceW efkeâleves efJeÅeeLeea hesâue ngÙes~
(a) 662 (b) 664 (c) 666 (d) 668

(e) 672

14. What is the dif fer ence between the to tal num ber 
of failed and passed stu dents from School D?

D mketâue ceW kegâue Demeheâue efJeÅeeefLe&ÙeeW ceW kegâue, keäÙee Deblej nQ~
(a) 1012 (b) 1048 (c) 1064 (d) 1078

(e) 1082

15. To tal num ber of failed stu dents from School E is 
ap prox i mately what per cent age of the to tal
num ber of ap peared stu dents from all six
schools together? 

mketâue E ceW kegâue Demeheâue efJeÅeeefLe&ÙeeW keâe, kegâue 6 mketâueeW kesâ
efJeÅeeefLe&ÙeeW kesâ meeLe ueieYeie % keäÙee nw~
(a) 15% (b) 18% (c) 21% (d) 24%

(e) 27%
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-Answer key

  1. (b)   2. (a)   3. (b)   4. (a)   5. (b)   6. (a)   7. (d)   8. (a)   9. (a)  10. (e)

 11. (d)  12. (b)  13. (a)  14. (e)  15. (a) 

 Hint & Solutions 

1. n S( ) = Num ber of ways of se lect ing 5 per sons out

of 12
12

5 7
79212

5= = =C
! !

n E( ) = Num ber of ways of se lect ing 3 chil dren out of 5,
and 2 per sons out of ( )4 3 7+ =  per sons =  

5
3

7
2C C× = 

 
× 

 
=

5

3 2

7

5 2
210

∴ P E( ) = = =n E

n S

( )

( )

210

792

35

132

2. Let the two mixture be mixed in the ratio of x :y

Then, in the first mixture, milk = 2

5

x
 and water = 

3

5

x

In the second mixture, milk = 3

10

y
 and water = 

7

10

y

Now, we have, =  
2

5

3

10

3

5

7

10

4

7

x y x y+ +: :

or, 
4 3

6 7

4

7

x y

x y

+
+

=

or, 28x + 21y = 24x + 28y

or, 4x = 7y

∴ x

y
= =7

4
7 4:

3. Let the cap i tal be x.

Then, 
x x× × − × ×

×
=1 13

100

25 1

2 100
104

or
x

100
13

25

2
−





= 104

or, 
x

100

1

2
× = 104

∴ x = × =104 200  Rs. 20800
4. LCM of 48, 72, 108 = 432 sec onds

So,
432

60
= 7 min, 12 sec

Thus re quired time = 8 hrs 20 min +7 min 12 sec = 8  : 27 :
12 sec onds 
5. Let the time taken at nor mal speed be x +





1

2

hrs. Then time taken, when speed in creases to
300 km/h, is x hrs.

So,
1800 1800

1

2

x
x

−
+





= 300

or, 6
1

2
6x x+





− = +





x x
1

2

or, 2 62x x+ − = 0

or, 2 3 4 62x x x− + − = 0
x x x( ) ( )2 3 2 2 3− + − = 0

or ( ) ( )x x+ −2 2 3 = 0

or, ( )x + 2 = 0
∴ x = −2 (ne glect neg a tive value)
And ( )2 3x − = 0

∴ x = 3

2
 hr

∴ Speed = 1800

3

2

 km/h = 1200 km/h

6.

AB = BC = CA = 2m

Now,PA = PB = BO = OC = MC = AM = 1m

∠ = ∠ = ∠ = °ABC ACB BAC 60

Area of ∆ABC = 
3

4

3

4
2 3 1722 2 2( ) .side m= × = =

Area of ∆ABC covered by all circles 

= ×
°

× ° = ×3
360

60 3
6

2 2π πr r

= × × =3 314 1

6
157

2
2.

. m

7. Let money be Rs. x.

Then, x 1
3

100
1

4

100
1

5

100
+





+





+





= Rs. 2249

or, x × × × =1 03 1 04 1 05 2249 52. . . .

∴ x
2249 52

1 03 1 04 1 05

.

. . .× ×
= Rs. 2000

P

= × × ×2249 52
100

103

100

104

100

105
.  

= Rs. 2000
8. HCF or 337.50, 1125 and 675 is 112.5. Then, ra tio

is 
337 50

112 5

1125

112 5

675

112 5
3 10 6

.

.
:

.
:

.
: :=

9. Reqd num ber of ways

= × + × + × +( ) ( ) ( )4
1

12
3

4
2

12
2

4
3

12
1

4
4C C C C C C C

= × × ×





+ × × ×





+ × +4
12 11 10

6

4 3

2

12 11

2
4 12 1( )

= × × + × × + +( ) ( )4 22 10 6 6 11 48 1
= + + + =880 396 48 1 1325

10. Area of cir cle = = ×πr 2 222

7
21( )

Let the length be 14x and breadth be 11x. 
Then,
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Area of rect an gle = × = ×14 11
21

7
21 2x x ( )

Now, x 2 14 11× × = × ×22

7
21 21

or, x 2 = × ×
× ×

=22 21 21

7 14 11
9

∴ x = 3
Length of rect an gle = × =14 3 42 cm.
Breadth = × =11 3 33 cm
∴ Per im e ter = + = × =2 42 33 2 75 150( )  cm

11. Reqd dif fer ence = × − =9500
22 18

100
380

( )

12. To tal num ber of stu dents passed from School B
and F to gether

= × +
2400

8 24

100

( )

= × =24 32 768

13. Q CApp = × =9500
10

100
950

Cpass = × =2400
12

100
288

∴ Num ber of failed stu dents = − =950 288 662
14. DApp = × =9500

22

100
2090

DPass = × =2400
21

100
504

∴ DFail = − =2090 504 1586
∴ Reqd dif fer ence = − =1586 504 1082

15. EFail = ×





− ×





9500
20

100
2400

20

100

= − =1900 480 1420
∴ To tal ap peared stu dents = 9500

∴ Reqd% = × = ≈1420

9500
100 14 94.  15%
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